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= 43.96 X 2 + 14 = 101.92( cm)
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(4x2x3.14) x 11 = 25.12 x 11 = 276.32( cm?)
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4cm

|

[2cm

[

o] Wol)= 4 x4 x 3.14 = 50.24( cm?)
H o] Wol)= (4 x2x 3.14) x 2 = 50.24( cm?)
4 o])=50.24 x 2 + 50.24 = 150.72( cm?)
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7cm

B ~
(9] "ol)= (BHel)- (B9 Hol) x2

=659.4 — (7x7x3.14) x 2

= 659.4 — 307.72

= 351.68(cm?)

(ol)= (R Hel)- (LHe] 97

= 351.68 + 43.96 = 8( cm)
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=10 % 3.14 x 10 = 314( cm?)
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(5x5x3.14) X 16 = 1256 (cm? )
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TTT-18.84em- -7 |Sem

® 150.76cm3 (@)141.3@113 @ 132.66cm?

@ 130.88cm? ® 114.08cm?

H

o] ¥tx]5)=18.84 + 3.14 + 2 = 3(cm)
59 H1l)=3x3x3.14 x5 = 141.3(cm?)
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(F1)= 10 X 10 X 3.14 X 10 = 3140( cm?)
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Aylo]7} 100.48 cm? Q1 Y7152 ALY

TOFA L.
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> & 502.4cm?

[

o] 7t=2 9] Zol)

HOl o)) + (=°])

0.48 + 2 = 50.24( cm)

o] ¥tz 8)

Ho] 7tz o] Zo) + (PF8) =2
24+314+2=8(cm)

7152 g Wi 9] Yol)

X 8 X 3.14 = 200.96( cm?)

A7]%5 2] 24lel)

(3 B2 YWol) x24 (W2 Hol)
200.96 X 2 + 100.48 = 502.4( cm?)
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Q
o

~3cm 2

[ 2
> A 452.16mL

B \

(97159 B4o]) =3x3x3.14x2+6x3.14%x5
= 56.52 + 94.2
= 150.72( cm?)
wabd AR EE B8 150.72 x 3 = 452.16( mL) YU ot
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[> ®eh: 785L

B ~

A7) RO LR EHre] Agol)
=(5x5%x3.14)x2+ (5x2x3.14) x5
= 157 + 157 = 314(m?)

(P23t HQE 9F)= 314 + (2x2) = 78.5(L)




